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POWER SUPP

CITIZEN model SDC-3910 is a dual-powered (high power solar + back-up
battery) calculator operative under any lighting conditions.

-Auto power-off function-

The calculator switches the power off automatically if there has been no
key entry for about 10 minutes.

-Battery change-

Remove the screw and the battery cover. Install a new battery with the +
symbol facing upward. After changing, use a pointed object to press the
RESET hole near the battery. Replace the battery cover and secure the
screw.

* KEY INDEX English

[Cgc] : Power on / Clear entry / Clear key

[M+] : Memory plus key

[M-] : Memory minus key

[MRC] : Memory recall key / Memory clear key

[MU] : Price mark-up / down key

[+/-] : £+ Sign change key

[SET] : Exchange rate setting key

[LOCAL] : Local currency key

[S3] : Universal currency key

[V 1: Square Root key

The Signs Of The Display Mean The Following :
MEMORY : Memory L - : Local currency rate
—MINUS : Minus (or negative) F - : Universal currency rate
ERROR : Overflow-error

* OPERATION EXAMPLES [ Engiish |

1.Calculation Examples
Before performing each calculation, press the [c/c] key two times.

Example Key operation Display
2x3=6 22 [cEic] 3 [F] 6.
6+4+75=175 6[+]4[+]7.5[=] 17.5
3-6-4=-7 3[H6[-4[=] -7.
5x3+02=75 5[x]3[+]0.2[] 75.
300 x 27% =81 300 [x] 27 [%) 81.
% x 100% = 20% 11.2 [+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5'=625 5[x] [=] [=] [7] 625.
1/2=05 2[+][=] 0.5
1
——=0.0625 4 [=
@x3:10) 2[x]3[+] 10 [+][5] 0.0625
[1as =12 1441V ] 12
2.Memory Calculation
(25x5)—(84+3) [MRC] [MRC] [cg/c] MEMORY ~ 125.
+(68 +17) = 182 25x] 5 [M+]
84 [+]3 [M-] MEMORY  28.
68 [+] 17 [M+] MEMORY  85.
[MRC] MEMORY ~ 182.
(52-35)+(14-3x2)  [MRC][cg/c] 14 [M+] 3 [x] 2
=2125 [M-]52[-] 35 [#]
[MRC] [=] MEMORY 2.125
135x (12 +14)=3510  [MRC] [MRC] [cE/c]
(12+14)+5=52 12 [+] 14 [M+]
135 [x] [MRC] [=] MEMORY 3'510.
[MRC] [#] 5 [=] MEMORY 5.2
3.Constant Calculation
2+3=5 2[+]3[7] 5.
4+3 4[=] 7.
3x4=12 3[4 [=] 12.
3x6=18 6[=] 18.
4.0Overflow Error Clear
1234567890 x 10000 1234567890 1'234'567'890.
=1'234.567890 x 10" [x] 10000 [=] ERROR  1234.567890
[cEic] [cEcl 0.
5.Price Mark-Up & Down Calculation
2000+(P x 20%)=P 2000 [+] 20 [MU] 2'500.
_ 2000 _,
P= oo ~2'500
2500-2000 = 500 MU] 500.
2000~(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.666666
p= 200 __1666.66
1+20%
18000-15000 1 50, 18000 [-] 15000 [MU] 20.
15000
=20%
6.Currency Conversion
EURO =1 [cec] [ceic] [LOCAL] L- the last set value
USD=1.2141 [SET] 1 B
[SET] 1.
(=] F-  thelastset value
[SET] 1.2141 31.2141 ¢
EURO 10 [SET] 1.2141
=USD 12.14 [cEic]
10 [LOCAL] [S] 12.14
UsD 25

=EURO 20.59 25 [Q] [LOCAL] 20.59



ALIMENTATION

CITIZEN modéle SDC-3910 a double alimentation (énergie solaire
huate+pile de soutien d’alimentation) qui peut opérer sous n'importe
conditions de lumiére.

-Arrét d’alimentation automatique-

L'alimentation de cette calculatrice se coupe automatiquement si laissée
allumée et non utilisée pendant environ 10 minutes.

-Remplacement de pile-

Enlevez la vis et le couvercle de la batterie. Installez une nouvelle batterie
avec le symbole +, face vers le haut. Aprés avoir fait le changement,
utilisez un objet pointu pour serrer le trou du bouton de REMISE A ZERO
prés de la batterie. Remettez le couvercle de la batterie et fixez la vis.

* SIGNIFICATION DES TOUCHES

[Cé?c] : Bouton de Mise en marche / Touche d’annulation de I'Entrée / d'annulation
[M+] : Touche de mémoire plus [M-] : Touche de mémoire moins
[MRC] : Rapeler la mémoire / Effacer la mémoire

[MU] : Touche de hausse / baisse du Prix

[+/-] : + Touche de changement de Signe

[SET] : Touche d’ ajustement du taux de change

[LOCAL] : Monnaie nationale [S] : Devise universelle

[/~ ]1: Touche Racine carrée
Affichage des Symboles :
MEMORY : Mémoire

—MINUS : Moins (ou négatif)
ERROR : Erreur — Débordement

L - : Taux de la devise locale
* EXEMPLES D’OPERATIONS

1.Exemples de calculs

Avant d’effectuer chaque calcul, pressez la touche [CEN/C] 2 fois.

F - : Taux de la devise universelle

Exemple Touche d'Opération Affichage
2x3=6 2[x] 2 [cEIc] 3 [=] 6.
6+4+75=175 6[+]4[+]7.5[=] 17.5
3-6-4=-7 3164 7.
5x3+02=75 5[x]13[+]0.2[] 75.
300 x 27% = 81 300 [x] 27 [%) 81.
% x 100% = 20% 11.2 [#] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [] 40 [%] 180.
5'=625 5[x] [=] [=] [=] 625.
1/2=05 2[][= 0.5
1
————=0.0625 +] [=
@x3+70) 2[x]3[+] 10 [+] [=] 0.0625
J1aa =12 144141 12.
2.Calcul avec mémoire
(25x5)— (84 +3) [MRC] [MRC] [CEN/C] MEMORY ~ 125.
+(68+17) = 182 25 x5 [M+]
84 [+] 3[M-] MEMORY 28.
68 [+] 17 [M+] MEMORY  85.
[MRC] MEMORY  182.
(62-35)+(14-3x2) [MRC] [C§7C] 14 [M+] 3 [x] 2
=2125 [M-]52 -] 35 [+]
[MRC] [=] MEMORY 2.125
135 x (12 + 14) = 3510 [MRC] [MRC] [cg?c]
(12+14)+5=52 12 [+] 14 [M+]
135 [x] [MRC] [=] MEMORY 3'510.
[MRC] [#] 5 [=] MEMORY 5.2
3.Constant Calcul
2[+3[] S.
4[=] 7.
3[x14[=] 12.
6[=] 18.

4.Correction et dépassement-erreur

1234567890 x 10000 1234567890 1'234'567'890.

=1'234.567890 x 10" [x] 10000 [=] ERROR  1'234.567890
[cgc] [cg;c] 0.

5.Calcul de la hausse et de la baisse du prix

2000+(P x 20%)=P 2000 [+] 20 [MU] 2'500.

p=229 5500

1-20%
2500-2000 = 500 [MU] 500.

2000—(P x 20%)=P
p=-22% _1666.66
1+20%
18000-15000
15000

=20%
6.Change de devise

x100%

2000 [+] 20 [+/-] [MU]

18000 [-] 15000 [MU]

1'666.666666

20.

EURO =1 [o2ic] [oic] [LOCAL] L= Valeurdu demier ensemble
USD= 1.2141 [SET] 1 e
[SET] 1.
(=] F - Valeur du demier ensemble
[SET] 1.2141 212141 ¢
EURO 10 [SET] 12141
=USD 12.14 o
[cerc]
10 [LOCAL] [Q)] 12.14
USD 25 =
=EURO2059 o5 gjL0CAL) 20.59



ALIMENTACION

Modeio CITIZEN SDC-3910 funciona gracias a un mecanismo de doble
carg (luz solar y bateria de apoyo), lo cual le permite operar bajo cualquier
condicion de iluminacién.

-Funcion de desconexion automatica-

La calculadora se apaga automaticamente si no ha sido utilizada
durante10 minutos aproximadamente.

-Reemplazada de la pila-

Si la pila de apoyo necesita ser reemplazada, quite los tornillos del parte
inferior y sustituya la pila gastada por una nueva. Después del recambio
intoduzca un objeto con punta en el agujero RESET que esta cerca de la pila
y apriete. Coloque la pila en su posicion correcta, con la polaridad indicada.

* TECLADO INFOMATIVO

[CEN/C] : Tecla de encendido / Tecla de borrar entrada / Borrar

[M+] : Tecla de memoria positiva

[M-] : Tecla de memoria negativa

[MRC] : Tecla de llamada de memoria / Tecla de para limpiar la memoria
[MU] : Tecla de subir o bajar precios

[+/-] : £Tecla de cambio de signo

[SET] : Touche d’ ajustement du taux de change

[LOCAL] : Monnaie nationale

[S] : Devise universelle

[V~ ]: Tecla de raiz cuadrada

Simbolos Visualizados :

MEMORY : Memoria L - : Tasa de cambio de moneda local
—MINUS : Menos (o negativo) F - : Tasa de cambio de moneda universal
ERROR : Error de desbordamiento

* EJEMPLO DE FUNCIONES [ Espaiiol |

1.Ejmplos de calculacion
o
Antes de efectuar cada calculo, presionar 2 veces la tecla de [CE/C].

Ejemplo Operacion con la tecla Visualizacén
2x3=6 2[x] 2 [cEc] 3] 6.
6+4+75=175 6[+]14[+]7.5(=] 175
3-6-4=-7 3[H6[-4[] -7.
5x3+02=75 5[x]3[+]0.2[] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% X 100% = 20% 11.2 [+] 56 [%)] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5*=625 5[x] [=] [=] [=] 625.
1/2=05 2+ [=] 0.5
1
—————=0.0625 +] [=]
@x3+10) 2 [x]3 [+] 10 [+] [=] 0.0625
J1aa =12 1441J ] 12.
2.Célculo de memoria
(25x5)—(84+3) [MRC] [MRC] [cE/c] MEMORY  125.
+(68 +17) = 182 25 [x] 5 [M+]
84 [+] 3 [M-] MEMORY 28.
68 [+] 17 [M+] MEMORY 85.
[MRC] MEMORY ~ 182.
(52-35)+(14-3x2) [MRC][cE/c] 14 [M+] 3 [x] 2
=2125 [M-]52[-] 35 [#]
[MRC] [=] MEMORY 2.125
135x (12 + 14)=3510  [MRC] [MRC] [cg/c]
(12+14)+5=52 12 [+] 14 [M+]
135 [x] [MRC] [=] MEMORY 3'510.
[MRC] [+] 5[] MEMORY 52
3.Constante
2+3=5 2[+]3[4] 5.
4+3=7 4[5 7.
3x4=12 3[4 12.
3x6=18 6[=] 18.
4.Limpiar para desbordamiento y error
1234567890 x 10000 1234567890 ERROR  1'234'567'890.
=1'234.567890 x 10" [x] 10000 [=] ERROR  1234.567890
[cEic] [cEic] 0.
5.Calculo De Subir O Bajar Precios
2000+(P x 20%)=P 2000 [+] 20 [MU] 2'500.
_ 2000 _,
P= 1-20% =2'500
2500-2000 = 500 [MU] 500.
2000—(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.666666
p=-22% __1666.66
1+20%
18000-15000 4 18000 [] 15000 [MU] 20.
5000 x100%
=20%
6.Cambio monetario
EURO =1 [cE/c) [cEic] [LOCAL] L- el dltimo valor establecido
USD=1.2141 [SET]1 31 ¢
[SET] 1.
(=])] F - el ltimo valor establecido
[SET] 1.2141 31.2141 ¢
EURO 10 [SET] 1.2141
=USD 12.14 [cEic]
10 [LOCAL] [S] 12.14
usD 25

=EURO 20.59 25 [Q] [LOCAL] 20.59



FONT DE ALIMENTACAO

CITIZEN modelo SDC-3910 tem dupla fonte de alimentagdo de energia
(energia solar e bateria de reserva), permitindo operar sob qualquer
condigdo de iluminag&o.

-Fungao Auto power-off (desligamento automa)-

A calculadora desliga automaticamente, caso nenhum a tecla seja
utilizada por aproximadamente 10 minutos.

-Troca de bateria-

Remova o parafuso e a tampa da bateria. Instale uma bateria nova com o
simbolo + voltado para cima. Depois do carregamento, use um objeto
pontudo para pressionar o furo do RESET (REAJUSTE) préximo da
bateria. Recoloque a tampa da bateria e aperte o parafuso.

* [NDICE DE TECLAS

[Cgc] : Tecla para Ligar / Tecla para Limpar Entrada / Limpar

[M+] : Tecla de mais da memoria

[M-] : Tecla de menos da memoria

[MRC] : Tecla da rechamada da meméria / Tecla para limpar a meméria
[MU] : Tecla para Marca Prego para cima / baixo

[+ /-] : Tecla para mudar Sinal +

[SET] : Tecla para Ajuste da Taxa de Cambio

[LOCAL] : Moeda Local

[&] : Moeda universal

[y~ 1: Tecla de Ralz Quadrada

Simbolos Visualizados :

MEMORY : Meméria L - : Taxa da moeda local
—MINUS : Menos (ou negativo) F - : Taxa da moeda universal
ERROR : Erro por transbordamento

* EXEMPLOS DE OPERACAO

1.Exemplo de calculos
on
Antes de executar cada célculo, pressione a tecla [CE/C] 2 vezes.

Exemplo Operagéo com a tecla Visualizagéo
2x3=6 2 [x] 2 [cEic] 3[=] 6.
6+4+75=175 6[+4[+75[] 175
3-6-4=-7 3[H6[-4[] -7.
5x3+02=75 5[x]3[+]0.2 7] 75.
300 x 27% = 81 300 [x] 27 [%)] 81.
% X 100% = 20% 11.2 [+] 56 [%) 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5'=625 5[x1[=] =] [=] 625.
1/2=05 2] [=] 0.5
1
———=0.0625 4] [=]
@x3+70) 2[x]13[+] 10 [+] [=] 0.0625
J1aa =12 144[1J] 12.
2.Meméria
(25 5)— (84 + 3) [MRC] [MRC] [cEic] MEMORY 125,
+(68 +17) =182 25 [x] 5 [M+]
84 [+] 3 [M-] MEMORY 28.
68 [+] 17 [M+] MEMORY 85.
[MRC] MEMORY  182.
(52-35)+(14-3x2)  [MRC] [cE/c] 14 [M+] 3[x] 2
=2125 [M-]52[-]35[+]
[MRC] [=] MEMORY 2.125
135x (12 + 14)=3510  [MRC] [MRC] [cE/c]
(12+14)+5=52 12 [+] 14 [M+]
135 [x] [MRC] [=] MEMORY 3'510.
[MRC] [+] 5[] MEMORY 5.2
3.Constante
2[+]3[] 5.
4[] 7.
3[x]4[=] 12.
6[=] 18.
4.Erro por excesso
1234567890 x 10000 1234567890 ERROR  1'234'567'890.
=1'234.567890 x 10" [x] 10000 [=] ERROR  1'234.567890
[cgc] [cgNrc] 0.
5.Calculo para marcacao de preco para cima & para baixo
2000+(P x 20%)=P 2000 [+] 20 [MU] 2'500.
_ 2000 _,,
P= 1-20% =2'500
2500-2000 = 500 MU] 500.
2000—(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.666666
=229 __1666.66
1+20%
18000-15000 o 18000 [-] 15000 [MU] 20.
15000 x100%
=20%
6.Cambio de Moeda
EURO =1 [cEic] [cE/c] [LOCAL] L~ o itimo valor configurado
USD= 1.2141 [SET] 1 31
[SET] 1.
2] F - o ultimo valor configurado
[SET] 1.2141 31.2141 ¢
EURO 10 [SET] 1.2141
=USD 12.14 [cgicl
10 [LOCAL] [S] 12.14
UsD 25

=EURO2059  25[Q][LOCAL] 20.59



KRAFTVERSOR G

CITIZEN model SDC-3910 wird durch 2 voneinander unabhéngigen
Energiequellen versorgt (Entweder durch eine sehr starke solar-zelle oder
durch eine batterie). Der rechner arbeitet selbst unter schlechtesten
lichtbedingungen.

-Automatische Ausschaltung-

Der rechner schaltet sich automatisch ab, wenn diesen 10 minuten nicht
mehr benutzen.

-Batterlewechsel-

Installieren Sie eine neue Batterie mit nach oben gerichteter + Markierung.
Benutzen Sie anschlieBend einen spitzen Gegenstand, um damit in die
RESET Offnung nahe bei der Batterie zu driicken. Bringen Sie die
Batterieabdeckung wieder an, und ziehen Sie die Schrauben an.

* ERKLARUNGEN VON SCHLUSSEL

[CEN/C] : An/ Eingabe I6schen / Léschen Taste

[M+] : Speicher Plus taste

[M-] : Speicher Minus taste

[MRC] : Speicher Abruf taste / Speicher Loschen taste
[MU] : Preisangabe-oben / unten Taste

[+ /-] : +Vorzeicheneingabetaste

[SET] : Taste fiir Festsetzung des Wechselkurses
[LOCAL] : Heimische Wéahrung
[3] : Universelle Wahrung

[V~ 1: Quadratwurzeltaste
Anzeigesymbole :
MEMORY : Speicher

—MINUS : Minus(oder negative)
ERROR : Uberflussfehler

* DAS BEISPIEL FUR OPERATIONEN

1.Berechnungsbeispiele
Driicken Sie vor dem Ausfiihren einer Berechnung jeweils die [CEN/C] Taste 2 mal.

L - : Lokale Wahrungskurs
F - : Universeller Wahrungskurs

Beispiel Tastenkombination Anzeige
2x3=6 2[x] 2 [cE/c] 3 [] 6.
6+4+75=175 6[+]4[+]7.5[=] 17.5
3-6-4=-7 3164 7.
5x3+02=75 5[x]3[+] 0.2 [7] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% X 100% = 20% 11.2 [+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5'=625 5[x][=] [=] =] 625.
1/2=05 2[:][=] 0.5
1
@xari0) 006 2[x]3 [+ 10 [+] [=] 0.0625
J1aa =12 14414 ] 12.
2.Speicher
(25 x 5) - (84 + 3) [MRC] [MRC] [cg/c] MEMORY ~ 125.
+(68 +17) = 182 25 (x5 [M+]
84 [+] 3 [M-] MEMORY  28.
68 [+] 17 [M+] MEMORY  85.
[MRC] MEMORY ~ 182.
(52-35)+ (14-3x2)  [MRC][cE/c] 14 [M+] 3 [x] 2
=2125 [M-]52[-] 35 [%]
[MRC] [=] MEMORY 2.125
135x (12 +14)=3510  [MRC] [MRC] [cE/c]
(12+14)+5=52 12 [+] 14 [M+]
135 [x] [MRC] [=] MEMORY 3'510.
[MRC] [] 5[] MEMORY 5.2
3.Konstant
2+3=5 2[+3[=] 5.
4+3=7 4=] 7.
3x4=12 3[x] 4[=] 12.
3x6=18 6[=] 18.
4.Korrektur und iiberlauf-fehleer
1234567890 x 10000 1234567890 1'234'567'890
=1'234.567890 x 10" [x] 10000 [=] ERROR  1234.567890
[cElc] [cElc] 0.
5.Preismarkierungs auf & abrundungsrechngung
2000+(P x 20%)=P 2000 [+] 20 [MU] 2'500.
_ 2000 _,
P= 1-20% =2'500
2500-2000 = 500 MU] 500.

2000—(P x 20%)=P
_ 2000 _.,

P: T3 20% 1'666.66
18000- 15000
15000

=20%
6.Wahrungswechsel

x100%

2000 [+] 20 [+/-] [MU]

18000 [] 15000 [MU]

1'666.666666

EURO =1 [cg/c] [cE/c] [LOCAL] L-  Derletzte gesetzte Wert
UsD=1.2141 [SET]1 1
[SET] 1.
2] F-  Derletzte gesetzte Wert
[SET] 1.2141 31.2141 ¢
EURO 10 [SET] 1.2141
=USD 12.14 [cgic]
10 [LOCAL] [S] 12.14
uUsD 25
=EURO2059  25[Q][LOCAL] 20.59



CITIZEN wmopenb SDC-3910 wumeeT [BoHOe nNMUTaHWE (COMHYHbIE
3nemeHTbI+6aTapesi) u cnocobeH paboTath Npu N0GOM ocBeLeHNN.
-ABTOMaTUYECKOE OTKIKOYEHUE NUTaHMS-

3T0T  KarnbkynsiTop  MMEET  (PYHKUMIO  aBTOMATUHECKOTO  OTKIKOMEHMS!
NuTaHWs,6rnarofaps Yemy 3MeKTPONUTaHWe OTKMKYAeTCsl, eCrin B TeueHue
MPUMEPHO 10 MUHYT He NPOM3BOAMIOCH HIKAKVX ONlepaLVi Ha KaBuLLax.
-3ameHa 3MeMEHTOB NUTaHUs-

OTKpYTUTE BUHTBI U CHUMMTE KPbILKY OTCEKa NUTaHus. BcTasTe HoByio
6artapeiiky 3HakoM + kBepxy. CMeHus Gatapeiiky, HaxmuTe kHonky RESET
PSAOM C OTCEKOM MUTAHMUS C NOMOLLBIO TOHKOrO 3a0CTPEHHOTO NpeameTa.

3akpoiiTe KpbILLKY OTCeKa NUTaHUs U 3aKpyTUTE BUHTI.
Pycckuii

* KNABULLA

[cENrc] : Bkntoyenune nutanms / Copoc uncna / Copoc

[M+] : KnaBuwwa namaTtv nnoc

[M-] : KnaBuwa namatn muHyc

[MRC] : KnaBuwa u3sneveHus us namatv / Knaeuwa cbpoca namsitu
[MU] : Poct/napeHue ueHbl

[+ /-] : ¥MepemeHa 3Haka

[SET] : Knasuwwa ycTaHoBKW Kypca o6MeHa

[LOCAL] : MecTHas BantoTa

[S] : YHuBepcansHas saniota

[V~ ]: KnaBuwa u3sneyeHus KsagpaTHOro KOpHs
BbicBeunBaemble CMMBONbI @

MEMORY : namste L - : Kypc mecTHom BantoTbl
—MINUS : MuHyc (vnu oTpuuatensHoe 4ncno)

ERROR : Owu6ka nepenonHexus F - : Kypc yHuBepcanbHo BantoTbl

* MPUMEYAHMUE

1.Mpumepbl pacyéToB
on
Mepen Ha4anom BbIMUCNEHUI HAaXMWTE Knasuwy [CE/C] 2 pasa.

Mpumep Knasuwm OkpaH
2x3=6 2[x] 2 [cE/c] 3[=] 6.
6+4+75=175 6[+]4[+]75[=] 175
3-6-4=-7 3[H6[H4[E -7.
5x3+02=75 5[x]3[+] 0.2 [7] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100%=20%  11.2 [<] 56 (%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [] 40 [%] 180.
5'=625 5[x] =] 5] =] 625.
1/2=05 2[+][] 0.5
———-0.0625 4 [=
@x3+10) 2[x13 [+ 10 [ [=] 0.0625
f1as =12 1441y ] 12
2.0nepauuH ¢ NnaMATLIO
(25x 5)— (84 + 3) [MRC] [MRC] [cEIc] MEMORY 125
+(68+17) =128 25[x] 5 [M+]
84[+] 3 [M-] MEMORY ~ 28.
68 [+] 17 [M+] MEMORY 85,
[MRC] MEMORY 182,
(52-35)+(14-3x2)  [MRC][cE/c] 14 [M+] 3 [x] 2
=2.125 IM-] 52 [ 35 [+]
[MRC] [=] MEMORY  2.125
135x (12 +14)= 3510 [MRC] [MRC] [CE/C]
(12+14)+5=52 12 [+] 14 [M+4]
135 [x] [MRC] [=] MEMORY  3'510.
[MRC] [+] 5 [=] MEMORY 5.2
3.Bbluncnenmns ¢ KOHCTaHTON
2+3=5 2[+]3[] 5.
4+3=7 4[] 7.
3x4=12 3 4[] 12.
3x6=18 6[=] 18.
4.Ucnp u c6poc npv nepeno;
1234567890 x 10000 1234567890 ERROR  1'234'567'890.
=11234.567890 x 10" [x] 10000 [=] ERROR  1'234.567890
[cElc] [cElc] 0.
5.Pacyet pocTa 1 nageHus ueH
2000+(P x 20%)=P 2000 [+] 20 [MU] 2'500.
_ 2000 _,,
P= gy ~2500
2500-2000 = 500 MU] 500.

2000~(P x 20%)=P

2000 [+] 20 [+/-] [MU]

1'666.666666

2000 _,,
P= gy =1666.66
18000-15000 4 1o, 18000 [-] 15000 [MU] 20.
=20%
6.06MeH BanioT
EURO =1 [c€/c] [cE/cl [LOCAL] L~ noonenwsn sanaswan senmimia
usD=1.2141  [SET]1 BN
[SET] 1.
2] F - nocnepwsn 3anantan senuunta
[SET] 1.2141 312141 ¢
EURO 10 [SET] 1.2141
=USD12.14  [cEicl
10 [LOCAL] [S] 12.14
usD 25
=EURO2059 25[Q3] [LOCAL] 2059



ZASILANIE

Kalkulator CITIZEN , model SDC-3910 jest zasilany podwdjnie (bateria
stoneczna+bateria zwykta) Kalkulator pracuje w kazdych warunkach
odwietlenia.

-Funkcja automatycznego wylaczenia-

Kalkulator wylacza sie automatycznie w przypadku jesli zaden z
przyciskow nie zostanie nacisnlety w ciagu 10 minut.

-Wymiana baterii-

Odkreci¢ $rubke i zdjaé pokrywe. Wiozy¢ nowa baterie symbolem + do
gory. Po wymianie baterii prosze nacisngé znajdujacy sie obok przycisk
RESET przy pomocy czego$ cienkiego, np. otéwka. Zamknaé pokrywe i

zakreci¢ $rubke.
[cgN/c] : Zasilanie / Kasowanie liczby / Kasowanie

* OPIS KLAWISZY
[M+] : Przycisk wprowadzenia do pamigci ze znakiem plus
[M-] : Przycisk wprowadzenia do  pamieci ze znakiem minus
[MRC] : Klawisz MR (Klawisz wywolania z pamieci) /

Klawisz MC (Klawisz kasowania pamigci)

[MU] : Przyrost / obnizka cen
[SET] : Ustawienie kursu wymiany
[&] : Waluta uniwersalna

[+ /-] : + Zmiana znaku
[LOCAL] : Waluta miejscowa
[V 1: Klawisz pierwiastka

Wyswietlane symbole:
MEMORY : Pamigé

—MINUS : Minus (lub liczba ujemna)
ERROR : Btad przepetnienia

* PRZYKLADY DZIALAN | potish |

1.Przykladowe obliczenia
on
Przed rozpoczeciem obliczen nalezy nacisnaé klawisz [CE/C] 2 razy.

L - : Kurs waluty miejscowej
F - : Kurs waluty uniwersalnej

Przyktad Klawisze Ekran
2x3=6 2[x]2[cEic] 3[] 6.
6+4+75=175 6[+4[+7.5][=] 175
3-6-4=-7 3[6[-]4[<] 7.
5x3+02=75 5[x]3[+]0.2 ] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% X 100% = 20% 1.2+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5'=625 5[] [=][=] [=] 625.
1/2=05 2[<][=] 05
1
@xasio) 006% 2[x]3[+] 10 ][] 0.0625
Viag =12 144V 12.
2.0bli lia z wykorzy pamie
(25 x 5) - (84 + 3) [MRC] [MRC] [cg/c] MEMORY ~ 125.
+(68 +17) = 182 25[x] 5 [M+]
84[+]3 [M-] MEMORY  28.
68 [+] 17 [M+] MEMORY  85.
[MRC] MEMORY ~ 182.
(52-35)+(14—-3x2)  [MRC][cE/c] 14 [M+] 3 [x] 2
=212 [M-152[-]135 [+]
[MRC] [=] MEMORY 2.125
135x (12 +14)=3510  [MRC] [MRC] [cE/c]
(12+14)+5=52 12 [+] 14 [M+]
135 [x] [MRC] [=] MEMORY 3'510.
[MRC] [] 5 [=] MEMORY 5.2
3.Stala
2[+3[= 5.
4[=] 7.
3[x]4[] 12.
6[=] 18.

4.Przepetnienie pamigci

1234567890 x 10000 1234567890 1'234'567'890.

=1'234.567890 x 10" [x] 10000 [=] ERROR  1'234.567890
[cEic] [cEic] 0.

5.Przyrost i obnizka cen

2000+(P x 20%)=P 2000 [+] 20 [MU] 2'500.

2000 _,,
P= 09 ~2'500
2500-2000 = 500 MU] 500.

2000~(P x 20%)=P
2000

2000 [+] 20 [+/-] [MU] 1'666.666666

= o0, - 1666.66
18000-15000 , 409, 18000 [-] 15000 [MU] 20.
15000
=20%
6.Zamiana waluty
EURO =1 [cic] [ce/c] [LOCAL] L-  ostatnio wprowadzone ustawienie
UsD=1.2141  [SET]1 21
[SET] 1.
t=]] F - ostatnio wprowadzone ustawienie
[SET] 1.2141 31.2141 ¢
EURO 10 [SET] 1.2141
=USD 1214 [cEicl
10 [LOCAL] [R] 12.14
usD 25
=EUR020.59 25[Q][LOCAL] 20.59
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2x3=6 2[x] 2 [cE/c] 3 [=] 6.
6+4+75=175 6[+14[+]7.5[=] 17.5
3-6-4=-7 3[6[4[=] 7.
5x3+02=75 5[x]3[+]0.2[=] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x 100% = 20% 11.2 [+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 - (300 x 40%) = 180 300 [] 40 [%] 180.
5'=625 5= == 625.
1/2=05 2[+][7] 0.5
1
———-0.0625 S [=
@x3+10) 2[x13 [+ 10 [] [=] 0.0625
f1aa =12 1441 ] 12.
212 I HEHIRIE
(25 x 5) - (84 + 3) [MRC] [MRC] [cg/c] MEMORY ~ 125.
+(68 +17) = 182 25 [x] 5 [M+]
84[+] 3 [M-] MEMORY ~ 28.
68 [+] 17 [M+] MEMORY ~ 85.
[MRC] MEMORY ~ 182.
(52-35)+(14-3x2) [MRC][cEic] 14 [M+] 3 [x] 2
=2.125 [M-]52[-] 35 %]
[MRC] [=] MEMORY 2.125
135x (12 + 14)=3510  [MRC] [MRC] [cg/c]
(12+14)+5=52 12 [+] 14 [M+]
135 [x] [MRC] [=] MEMORY 3'510.
[MRC] [+] 5 [=] MEMORY 5.2
IEMHE
2+3=5 2[+]3[F] 5.
4+3=7 4[] 7.
3x4=12 3[4 [=] 12.
3x6=18 6[=] 18.
A BHZHEASNBR
1234567890 x 10000 1234567890 1'234'567'890.
=1'234.567890 x 10°  [x] 10000 [=] ERROR  1'234.567890
[cEic] [cEic] 0.
SN &EMITE
2000+(P x 20%)=P 2000 [+] 20 [MU] 2'500.
_ 2000 _,,
P= 107 2500
2500-2000 = 500 [MU] 500
2000—(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.666666
p= 2% - 1666.66
1+20%
18000-15000 4 90 18000 [-] 15000 [MU] 20.
T5000 X100%
=20%
RS
EURO =1 [cEic] [cEic] [LOCAL] L-
USD= 1.2141 [SETH
[SET] 1.
Sl F-
[SET] 1.2141
EURO 10 [SET]
=USD 12.14 o
[cErc]
10 [LOCAL] 12.14
USD 25 [ 1S
= EURO 20.59

25 [Q] [LOCAL] 20.59



* Alimentzzione Elettrica

Il calcolatore CITIZEN model SDC-3910 ha due risorse di potenza :
energia solare e batteria di riserva e puo funzionare sotto qualsiasi luce.
-Spegnimento automatico-

La calcolatrice si spegne automaticamente se non immettere nessun dato
in circa 10 minuti.

- Sostituzione della batteria -

Rimuovere la vite ed il coperchio della batteria. Installare una nuova
batteria con il simbolo + rivolto verso I'alto. Dopo aver sostituito la batteria,
usare un oggetto appuntito per premere il foro RESET (RIPRISTINA)
vicino alla batteria. Richiudere il coperchio della batteria e fissare la vite.

* Indice Tasti

[CEN/C] : Acceso / Cancella immissione / Tasto cancella

[M+] : Memoria addizione

[M-] : Memoria sottrazione

[MRC] : Margine. / Cancellazione

[MU] : Tasto rialzo / ribasso di prezzo

[+ /-] : £Tasto cambio segno

[SET] : Chiave per disporre il cambio di valuta

[LOCAL] : Moneta locale

[&] : Valuta universale

[y~ 1: Tasto radice quadrata

Simboli di visualizzazione :

MEMORY : Memoria L - : Aliquota della valuta locale
—MINUS : Meno (o negativo) F - : Aliquota della valuta universale
ERROR : Errore di traboccamento aritmetico

* Esampio di Operazione

1.0perazione del calcolo normale
on
Prima di effettuare ciascun calcolo, premere il tasto [CE/C] 2 volte.

Esempio Operazione con il tasto Visualizzazione
2x3=6 2[x] 2 [cE/c] 3 [=] 6.
6+4+75=175 6[+]4[+]7.5[=] 17.5
3-6-4=-7 3[H6[-H4[=] -7
5x3+02=75 5[x]3[+]0.2[=] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x 100% = 20% 11.2 [+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5'=625 5[x] [=] [=] [7] 625.
1/2=05 2[+][7] 0.5
1
——————=0.0625 4] [=
@x3+10) 2[x]3[+] 10 [+] [] 0.0625
Jias =12 144177 12
2.0perazione del calcolo memoria
(25 x 5)— (84 + 3) [MRC] [MRC] [cg/c] MEMORY ~ 125.
+(68 +17) = 182 25 [x] 5 [M+]
84 [+] 3 [M-] MEMORY  28.
68 [+] 17 [M+] MEMORY  85.
[MRC] MEMORY ~ 182.
(52-35)+(14-3x2) [MRC][cE/c] 14 [M+]3[x] 2
=2.125 [M-]52 [-] 35 [#]
[MRC] [=] MEMORY 2.125
135x (12 + 14) =3510  [MRC] [MRC] [cEic]
(12+14)+5=52 12 [+] 14 [M+]
135 [x] [MRC] [=] MEMORY 3'510.
[MRC] [#] 5 [=] MEMORY 5.2
3.0perzaione del calcolo costante
2+3=5 2[+]3[F] 5.
4[=] 7.
3[x]4[=] 12
6[=] 18.
4.Cancellazione della capacita di operazione superata
1234567890 x 10000 1234567890 1'234'567'890.
=1'234.567890 x 10" [x] 10000 [=] ERROR  1'234.567890
[cEic] [cEic] 0.
5.Calcolo rialzo / Ribasso di prezzo
2000+(P x 20%)=P 2000 [+] 20 [MU] 2'500.
_ 2000 _,,
P= 1-20% 2'500
2500-2000 = 500 [MU] 500.
2000~(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.666666
p= 200 __1666.66
1+20%
18000-15000 o 18000 [] 15000 [MU] 20.
o000 X100%
=20%
6.Cambio di valuta
EURO =1 [cE/c] [cE/c] [LOCAL] L-  rutimo valore impostato
USD=1.2141 [SET] 1 HIE
[SET] 1.
[S] F - rulimo valore impostato
[SET] 1.2141 31.2141 ¢
EURO 10 [SET] 1.2141
=USD 12.14 [cgic]
10 [LOCAL] [Q] 12.14
UsD 25

=EURO 20.59 25 [Q] [LOCAL] 20.59
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CITIZEN SDC-3910 regnemaskine er forsynet af to typer batterier :
Solceller og reservebatteriet, hvilken ger det muligt at bruge
regnemaskinen med ethvert baggrundslys.

-Stop stramforsyningen automatisk-

Lommeregneren slukker automatisk for stremmen, hvis der ikke har veeret
trykket pa en tast i ca. 10 minutter.

-Skift batteriet-

Fjern skruen og batteri coveret. Indszet et nyt batteri med + symbolet opad.
Saet coveret tilbage pa plads og seet skruen i. Efter batteriskift, anvend en
spids genstand til at trykke ned i RESET hullet nzer batteriet. Seet coveret
tilbage pa plads og seet skruen i.

* Knappers indeks m

[cE/c] : Teend / Slet indtastning / slet
[M+] : Addition hukommelse knap  [M-] : Subtraktion hukommelse knap
[MRC] : Hukommelse knap. / Slettelse knap

[MU] : Prismzerke op / ned [+ /-] : +Skift fortegn
[SET] : Tast til indstilling af vekselkurs [LOCAL] : Lokal Valuta
[&] : Universal valuta [/ ]1: Kvadratrod tast
Display symboler :

MEMORY : hukommelse L - : Lokal valutakurs
—MINUS : Minus (eller negativ) F - : Universal valutakurs

ERROR : Overlgbsfejl

* Betjening eksempler m

1.Almindelig regningsoperation
For hver beregning, tryk pa [cé?c] tasten to gange.

Eksempel Tastebetjening Vis
2x3=6 2[x]2[ceic] 3 [=] 6.
6+4+75=175 6[+]4[+]7.5[=] 17.5
3-6-4=-7 3[H6[-4[=] -7.
5x3+02=75 5[x]3[+]0.2[] 75.
300 x 27% = 81 300 [x] 27 [%) 81.
% X 100% = 20% 11.2 [#] 56 (%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5'=625 5[x] [=] =] [=] 625.
1/2=05 2[+][] 0.5
1
—————=0.0625 4] [=
@x3+10) 2[x]3[+] 10 [+] [] 0.0625
[1as =12 14414 12
2.Hukommelse regningsoperation
(25 x5) - (84 + 3) [MRC] [MRC] [cE/c] MEMORY ~ 125.
+ (68 +17) =182 25 [x] 5 [M+]
84 [+] 3 [M-] MEMORY  28.
68 [+] 17 [M+] MEMORY  85.
[MRC] MEMORY ~ 182.
(52-35)+(14-3x2) [MRC][cE/c] 14 [M+]3[x] 2
=2.125 [M-]52 [-] 35 [#]
[MRC] [=] MEMORY 2.125
135x (12 + 14) =3510  [MRC] [MRC] [cEic]
(12+14)+5=52 12 [+] 14 [M+]
135 [x] [MRC] [=] MEMORY 3'510.
[MRC] [#] 5 [=] MEMORY 5.2
3.Regningssystem for konstanter
2+3=5 2[+]3[=] 5.
4+3=7 4[=] 7.
3x4=12 3[x4[=] 12.
3x6=18 6[=] 18.
4.Slet delen over regningskapaciteten
1234567890 x 10000 1234567890 1'234'567'890.
=1'234.567890 x 10" [x] 10000 [=] ERROR  1234.567890
[cic] [cElc] 0.
5.Beregning med prismarke op & ned
2000+(P x 20%)=P 2000 [+] 20 [MU] 2'500.
p= 2000 _x500
1-20%
2500-2000 = 500 [MU] 500.
2000~(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.666666
p= 200 __1666.66
1+20%
18000-15000 4 0 18000 [-] 15000 [MU] 20.
15000 x100%
=20%
6.Vekselkurs
EURO =1 [c2icl [cc] LOCAL] L~ Den sidst fastsatte veerdi
USD=1.2141 [SET] 1 I
[SET] 1.
(=] F - Den sidst fastsatte vaordi
[SET] 1.2141 31.2141 ¢
EURO 10 [SET] 1.2141
=USD 12.14 [cerc]
10 [LOCAL] [S] 12.14
UsD 25

=EURO 20.59 25 [Q] [LOCAL] 20.59



Stroomvoorziening

De CITIZEN SDC-3910 calculator krijgt van twee soorten batterijen haar
energie : zonne-energie en reserve energie.Zij kan onder alle soorten licht
werken.

-Automatische verbreking van de stroomvoorziening-

Als de calculator gedurende 10 minuten niet gebruikt wordt, wordt de
Stroomvoorziening automatisch verbroken.

-Het verwisselen van de batterijen-

Verwijder de schroef en het batterijdeksel. Plaats een nieuwe batterij met het
+ symbool naar de bovenkant. Na het veranderen van de batterij, gebruikt u
een puntig voorwerp om het RESET-gaatje, dat zich naast de batterij bevindt,
in te drukken. Plaats het batterijdeksel terug en maak de schroef vast.

* Lijst van druktoetsen Nederlands

[Cé?c] : Inschakelen / Invoer wissen / Wissen

[M+] : Geheugen optellen

[M-] : Geheugen aftrekken

[MRC] : Geheugen / Schrappen

[MU] : Toets voor afgeprijsde en verhoogde prijs
[+ /-] : + Toets voor het veranderen van teken
[SET] : Toets voor het instellen van de wisselkoers
[LOCAL] : Lokale munteenheid

[S3] : Universele munteenheid

[V 1: Vierkantswortel-toets

Symbolen op het beeldscherm :
MEMORY : Geheugen L - : Koers van de locale munteenheid
—MINUS : Min(of negatief) F - : Koers van de universele munteenheid

ERROR : Overflow fout
* Voorbeelden van bedlening bij gebruik EIEEERLHN

1.Stappen van gewone calculaties
Druk tweemaal op de [Cg;c] toets alvorens een bewerking uit te voeren.

Voorbeeld Ingedrukte toetsen Weergave op het scherm
2x3=6 2[x] 2 [cE/c] 3[=] 6.
6+4+75=175 6[+4[+75[] 175
3-6-4=-7 3[-16[-4[ 7.
5x3+02=75 5[x]3[+] 0.2 [7] 75.
300 x 27% = 81 300 [x] 27 [%) 81.
% x 100% = 20% 11.2 [#] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
* =625 5 X [=][=] [=] 625.
1/2=05 2[+][=] 0.5
1
————=0.0625 +] [=
&x3770) 2[x]3[+] 10 [+] [=] 0.0625
f[1aa =12 14414 ] 12.
2.Stappen bij calculaties met gebruik van geheugen
(25 x 5) — (84 + 3) [MRC] [MRC] [cg/c] MEMORY ~ 125.
+(68 +17) =182 25 [x] 5 [M+]
84 [+] 3 [M-] MEMORY ~ 28.
68 [+] 17 [M+] MEMORY  85.
[MRC] MEMORY ~ 182.
(52-35)+(14-3x2)  [MRC][cgic] 14 [M+] 3 [x] 2
=2125 [M-]52 [-]35[+]
[MRC] [7] MEMORY 2.125
135x (12 + 14) = 3510 [MRC] [MRC] [cg?c]
(12+14)+5=52 12 [+] 14 [M+]
135 [x] [MRC] [=] MEMORY 3'510.
[MRC] [+] 5 [=] MEMORY 5.2
3.Calcul \te
2+3=5 5.
4+3=7 7.
3x4=12 12.
3x6=18 6 [=] 18.
4.Het scnrappen van ingetoetste getilen die de
calculatiecapactieit overschrijden
1234567890 x 10000 1234567890 1'234'567'890.
= 1234567890 x 10°  [x] 10000 [=] ErROR  1'234.567890
[cEic] [cElc] 0.
5.Berekening van de afgeprijsde of verhoogde prijs
2000+(P x 20%)=P 2000 [+] 20 [MU] 2'500.
_ 2000 _,
P= 1-20% =2'500
2500-2000 = 500 MU] 500.
2000—(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.666666
p=-22%__1666.66
1+20%
18000-15000 o 18000 [-] 15000 [MU] 20.
15000 x100%
=20%
6.Munteenheid converteren
EURO =1 [cEicl [cE/c] [LOCAL]  L-  De laatst ingestelde waarde
USD=1.2141 [SET] 1 3¢
[SET] 1.
[S] F-  De laatst ingestelde waarde
[SET] 1.2141 31.2141 ¢
EURO 10 [SET] 1.2141
=USD 12.14 [cgic]
10 [LOCAL] [S] 12.14

uUsD 25
=EURO 20.59 25 [Q] [LOCAL] 20.59



* Sumber tenaga listerlk Bahasa Indonesia

Calculator CITIZEN model SDC-3910 mendapat listerik dari dua macam
baterai : tenaga matahari dan tenaga simpanan, sehingga calculator ini
bisa bekerja dibawah segala macam sinar.

-Sumber tenaga bisa bekerja dan tutup secara otomatis-

Jikalau dalam kira2 10 menit calculator tidak bekerja maka sumber tenaga
akan berhenti bekerja otomatis.

-Cara mengganti baterai-

Lepaskan sekrup dan tutup baterai. Pasang baterai baru dengan tanda +
menghadap ke atas. Setelah diganti, gunakan obyek runcing untuk
menekan lubang RESET dekat baterai. Pasangkan kembali tutup baterai
dan kunci dengan sekrup.

* Daftar fungsi tuts

[cgNrc] : Tombol Power On / Tombol Power On / Hapus Semua
[M+] : Memory penambahan

[M-] : Memory pengurangan

[MRC] : Memory. / Penghapusan

[MU] : Tombol Mark-up / down harga

[+ /-] : +Tombol pengubah tanda

[SET] : Tombol Seting Nilai Kurs

[LOCAL] : Kurs lokal mata uang

[&3] : Pertukaran mata uang Universal

[V~ 1: Tombol akar kuadrat

Simbol - simbol Layar :

MEMORY : Memori L - : Rate mata uang Lokal
—MINUS : Minus (atau negatif) F - : Rate mata uang Universal
ERROR : Kesalahan Overflow

* Contoh cara pakai

1.Cara kalkulasi biasa .
]
Sebelum melakukan tiap perhitungan, tekan tombol [CE/C] 2 kali.

Contoh Operasi Tombol Tampilan di Layar
2x3=6 2[x] 2 [cE/c] 3] 6.
6+4+75=175 6[+]4[+]75[=] 17.5
3-6-4=-7 3[-16[-14[=] -7.
5x3+02=75 5[x]3[2] 0.2 [7] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% X 100% = 20% 11.2 [+] 56 [%) 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5'=625 5[x] [=] [=] =] 625.
1/2=05 2[5 0.5
1
————=0.0625 +] [=
Bx3770) 2[x]3[+] 10 [+] [=] 0.0625
J1aa =12 144y ] 12.
2.Cara melakukan kalkulasi dengan memory
(25 x 5)— (84 + 3) [MRC] [MRC] [c£/c] MEMORY ~ 125.
+(68 +17) =182 25[x] 5 [M+]
84 [+] 3 [M-] MEMORY ~ 28.
68 [+] 17 [M+] MEMORY  85.
[MRC] MEMORY ~ 182.
(52-35)+(14-3x2) [MRC][cgic] 14 [M+] 3 [x] 2
=2125 [M-] 52 [-] 35 [+]
[MRC] [=] MEMORY 2.125
135x (12 + 14) =3510  [MRC] [MRC] [cEic]
(12+14)+5=52 12 [+] 14 [M+]
135 [x] [MRC] [=] MEMORY 3'510.
[MRC] [+] 5 [=] MEMORY 5.2
3.Cara i dengan bil. I 1
2+3=5 2[+3[4] 5.
4+3=7 4[] 7.
3x4=12 3[x] 4[] 12.
3x6=18 6[=] 18.
4.Pengnapusan kalkulasi yang melewati
1234567890 x 10000 1234567890 1'234'567'890.
=1'234.567890 x 10 [x] 10000 [=] ERROR  1'234.567890
[cE/c] [cEic] 0.
5.Perhitungan mark-up & down harga
2000+(P x 20%)=P 2000 [+] 20 [MU] 2'500.
_ 2000 _,,
P= 1-20% =2'500
2500-2000 = 500 MU] 500.
2000~(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.666666
_ 2000 _,
P= TT20% 1'666.66
18000-15000 4 1o, 18000 [-] 15000 [MU] 20.
15000
=20%
6.Nilai Tukar Uang
EURO =1 [cEic] [cEic] [LOCAL] L- Nilai set terakhir
USD= 1.2141 [SET]1 31t
[SET] 1.
2] F- Nilai set terakhir
[SET] 1.2141 31.2141 ¢
EURO 10 [SET] 1.2141
=USD 12.14 [cgic]
10 [LOCAL] [Q] 12.14
UsD 25

=EURO 20.59 25[Q3] [LOCAL] 20.59
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2x3=6 2[x] 2 [cE/c] 3 [=] 6.
6+4+75=175 6[+]4[+]7.5[] 17.5
3-6-4=—7 3[H6[H4[] 7.
5x3+02=75 5(x]3[]0.2[7] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% X 100% = 20% 11.2[+] 56 (%] 20.
300 + (300 x 40%) =420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5'=625 5 [=] [=] [=] 625.
1/2=05 2[#][] 0.5
@xasio) 006% 2[x]3[+] 10 [+] [=] 0.0625
J1aa =12 1441V ] 12.
5804 Gilea 2
(25x5)— (84 +3) [MRC] [MRC] [¢cg)c] MEMORY ~ 125.
+(68 +17) =182 25 x] 5 [M+]
84[+]3 [M-] MEMORY  28.
68 [+] 17 [M+] MEMORY  85.
[MRC] MEMORY ~ 182.
(52-35)+ (14-3x2)  [MRC][cE/c] 14 [M+] 3 [x] 2
=2.125 IM-] 52 [] 35 []
[MRC] [=] MEMORY 2.125

[MRC] [MRC] [cE/c]
12 [+] 14 [M+]

135 [x] [MRC] [=]
[MRC] [] 5 [=]

135 x (12 + 14) = 3510
(12+14)+5=52

MEMORY 3'510.
MEMORY 5.2

) Gilwa 3

2+3=5 2[+]13[F] 5.
4+3=7 405 7.
3x4=12 3[4 12.
3x6=18 6] 18
30 ha) ek Gida 4

1234567890 x 10000 1234567890 1'234'567'890.

=1'234.567890 x 10" [x] 10000 [=]

o o
[ce/c] [ce/c].

0.
iy oY) ) el ped cilasa 5

ERROR 1'234.567890

2000+(P x 20%)=P 2000 [+] 20 [MU] 2'500.
_ 2000 _,,

P= gy ~2500

2500-2000 = 500 MU] 500.

2000~(P x 20%)=P

2000 [+] 20 [+/-] [MU]

_ 2000 _,,
= 2oy, =1'666.66
1800015000 _ 00, 18000 [] 15000 [MU]
=20%
EURO =1 [cBic] [cE/c] [LOCAL]
USD= 1.2141 [SET] 1
[SET]
2]
[SET] 1.2141
EURO 10 [SET]
=USD 12.14 [cEic]
10 [LOCAL] [Q]
USD 25

= EURO 20.59 25
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1'666.666666
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TPO®OAOZIA

To CITIZEN SDC-3910 eival pia apiBpounyavr) pe dITTAR Tpogodoaia
(nhiakn evépyeia uwnAig 10x00G + eQedpIK pTTaTapia), n otroia AeiToupyei
KATW aTTd OTTOIECBATIOTE CUVBAKESG QWTITHOU.

-AgiToupyia autépaTou KAEIGiuaTog-

H apiBuopnxavry kAeivel autépata €av dev  €xel UTTApEel  Kapia
TIANKTPOAGYNON yia 10 TrEPiTIOU AETITA.

-ANayr) prratapiag-

Agaipéote T Bida kai To KGAUPPa Tng pmatapiag. Eykataotiote pia véa
pTatapia pe 7o oUPBOAO + Vo KOITG TTPOg Tar £TTavw. MeTd omé v aMayr,
XPNOIMOTIONOTE £va aIXUNPES QVTIKEIMEVO i va TréoeTe v ot RESET kovta
oty prarapia. ETravaTotroBetioTe To KAAUPUa TG PTTaTapiag Kol o@icte T Bida.

* EYPETHPIO MAHKTPQN

[ce/c] : MAfKTPO avoiypatog / Siaypagrig TANKTPOAGYNaNG / Slaypagrg
[M+] : MAAKTPO PVAHNG OUV

[M-] : MAAKTPO pVAKNG TTANV

[MRC] : MAfAKTpo avakAnong pviung / MARKTPo Slaypa@rg HvAUNG
[MU] : MARKTpO adgnong/peiwong TipAg

[+/-] : MAAKTPO aAAayrig TTPOTTHOU *

[SET] : MAAKTPO pUBUIONG CUVOAAQYUATIKAG ICOTIHIAG

[LOCAL] : Totmiko vopiopa

[S3] : KaBohiké vépiopa

[V 1: MAAKTPO TETPaywVIKAG Pigag

01 evdeigeig TNG 086vNG onuaivouv Ta €€NG :

MEMORY : pviiun L - : looTipia ToTTKOU VOUioHaTOg
—MINUS : MAnv (1 apvnTikd) F - : looTipia SieBvoug vopiopartog
ERROR : ZgdApa utrepyeiliong

* MAPAAEIrMATA AEITOYPTIAZ EMnvika

1.Mapadeiypara utroAoyiopwV
Mpiv TIpaypaTOTIOINCETE KABE UTTOAOYIOHO, TIATACTE 2 POPES TO TTARKTPO [CEN/C].

Mapadelypa AeiToupyia TTARKTPOU 086vn
2x3=6 2[x] 2 [cEic] 3 [] 6.
6+4+75=175 6[+4[+]1 75 17.5
3-6-4=-7 364 -7.
5x3+02=75 5[x]13[+]0.2[7] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% X 100% = 20% 11.2 [#] 56 (%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5'=625 5[x][=] =] =] 625.
1/2=05 2+ [=] 05
——————=0.0625 4 [=
@2x3+10) 2[x]3[+] 10 ][] 0.0625
fias =12 1441771 12.
2.YTroAoyiopég uviung
(25 x 5) - (84 + 3) [MRC] [MRC] [cg/c] MEMORY ~ 125.
+(68 +17) = 182 25 [x] 5 [M+]
84 [+]3 [M-] MEMORY ~ 28.
68 [+] 17 [M+] MEMORY ~ 85.
[MRC] MEMORY ~ 182.
(52-35)+(14-3x2)  [MRC][cg/c] 14 [M+] 3 [x] 2
=2125 [M-]152[-]35[+]
[MRC] [=] MEMORY 2.125
135x (12 +14)=3510  [MRC] [MRC] [cE/c]
(12+14)+5=52 12 [+] 14 [M+]
135 [x] [MRC] [=] MEMORY 3'510.
[MRC] [] 5 [=] MEMORY 5.2
3.YmoAoyiopég oTabepdg
2+3=5 2[+]3[5] 5.
4+3=7 4[5 7.
3x4=12 3[x]4[=] 12.
3x6=18 6[=] 18.
4.Alaypagn o@aAparog utrepxeiliong
1234567890 x 10000 1234567890 1'234'567'890.
=1234.567890 x 10°  [x] 10000 [=] ERROR  1'234.567890
[cElc] [cElc] 0.
5.YmoAoyiopog auénong & Meiwong Tiung
2000+(P x 20%)=P 2000 [+] 20 [MU] 2'500.
_ 2000 _,,
P= 09 ~2'500
2500-2000 = 500 MU] 500.
2000~(P x 20%)=P 2000 [+] 20 [+/-] [MU] 1'666.666666
_ 2000 _.,
P= gy, =1666.66
18000-15000 4 1o, 18000 [-] 15000 [MU] 20.
15000
=20%
6.ZuvaAAaypaTIK 1I0OTIHIO
EURO =1 [c€/c] [cE/cl [LOCAL] L - nmy mou éxe rekeuai oo
UsD= 1.2141 [SET]1 BIE
[SET] 1.
[S] F - nnpr mou éxel TeAeutaia opioTel
[SET] 1.2141 31.2141 ¢
EURO 10 [SET] 1.2141
=USD 12.14 [cEicl
10 [LOCAL] [S] 12.14
usD 25

=EURO 20.59 25[Q3] [LOCAL] 20.59



WEEE MARK

If you want to dispose this product, do not mix with
general household waste. There is a separate collection
systems for used electronics products in accordance with
legislation under the WEEE Directive (Directive
2002/96/EC) and is effective only within European Union.

Wenn Sie dieses Produkt entsorgen wollen, dann tun Sie
dies bitte nicht zusammen mit dem Haushaltsmdill. Es gibt
im Rahmen der WEEE-Direktive innerhalb der
Europaischen Union (Direktive 2002/96/EC) gesetzliche
Bestimmungen fiir separate Sammelsysteme fiir gebrauchte
elektronische Geréte und Produkte.

Si vous souhaitez vous débarrasser de cet appareil, ne le
mettez pas a la poubelle avec vos ordures ménageres. Il
existe un systeme de récupération distinct pour les vieux
appareils électroniques conformément a la Iégislation
WEEE sur le recyclage des déchets des équipements
électriques et électroniques (Directive 2002/96/EC) qui est
uniquement valable dans les pays de I'Union européenne.
Les appareils et les machines électriques et électroniques
contiennent souvent des matieres dangereuses pour
I’'homme et I'environnement si vous les utilisez et vous vous
en débarrassez de fagon inappropriée.

Si desea deshacerse de este producto, no lo mezcle con
residuos domésticos de caracter general. Existe un
sistema de recogida selectiva de aparatos electrénicos
usados, segun establece la legislacién prevista por la
Directiva 2002/96/CE sobre residuos de aparatos
eléctricos y electrénicos (RAEE), vigente Ginicamente en la
Unién Europea.

Se desiderate gettare via questo prodotto, non
mescolatelo ai rifiuti generici di casa. Esiste un sistema di
raccolta separato per i prodotti elettronici usati in
conformita alla legislazione RAEE (Direttiva 2002/96/CE),
valida solo all'interno dell’'Unione Europea.

Deponeer dit product niet bij het gewone huishoudelijk afval
wanneer u het wilt verwijderen. Erbestaat ingevolge de
WEEE-richtlijn (Richtlijn 2002/ 96/EG) een speciaal
wettelijk  voorgeschreven  verzamelsysteem  voor
gebruikte elektronische producten, welk alleen geldt
binnen de Europese Unie.

Hvis du vil skille dig af med dette produkt, mé& du ikke smide
det ud sammen med dit almindelige husholdningsaffald. Der
findes et separat indsamlingssystem for udtente
elektroniske produkter i overensstemmelse med lovgivnin-
gen under WEEE-direktivet (direktiv 2002/96/EC), som
kun er geeldende i den Europaeiske Union.

Se quiser deitar fora este produto, ndo o misture com o lixo
comum. De acordo com a legislagdo que decorre da
Directiva REEE — Residuos de Equipamentos Eléctricos e
Electrénicos (2002/96/CE), existe um sistema de recolha
separado para os equipamentos electrénicos fora de uso,
em vigor apenas na Uni&o Europeia.

Jezeli zamierzasz pozby¢ sig tego
produktu, nie wyrzucaj go razem ze
zwyktymi domowymi odpadkami. Wedtug
dyrektywy WEEE (Dyrektywa
2002/96/EC) obowig zujacej w Unii
Europejskiej dla uzywanych produktow
elektronicznych nalezy stosowac

oddzielne sposoby utylizacji. _
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